121 coshdh = cash 202
= Qeosh Ix— | ®
" 2 s |y - |
e (4g.mv\4y+4snw,,> =
= Esmbix v Eninlin s |




J cosh 4x

= cash 2(2x) AT ses
= sl e |
= QCQsmthOSL’Xj‘L ,@
5 SMh?x cpsh x4 \@
= & sl (15 + 1D + E@j
= Fonk x4 §gnltxet )@

Y

SLUTION



[lj coshdx = {;@g\altzy> MAERANTE SOLUTIon
= Cosh® 2x + Sinh 24 @&
(2o r 1S+ (Dsmbxcosh) ©

= UdgHxer L+ ) L s X cosh x &

= Aom b A( anmxe | F 4 shix &-ih\ql ij}@}
= Danh!xrdanhix+) ¥ depn'x +# 4 sinls X

= &soh'x %.5?«“%\‘\1')(-"\

il




27 [ - ?f‘:ﬁf—)# e\ 5. B
BESE Lé&j 5( . Q(-'——""—‘,ﬂ = %€-><—-%€y-—€x-——@x

2

@ ws il BT B

, - E TR
L]+ -~ =
L) T -2 =3 &

e #.5*6:-}:: b L/E;;};'%.ﬁ'@)( s ()

.
Sl s, o be(ForBa! (e

: 3 -, _
3 . .
= fow DT _
oulige L TNy

i f

' >2 — 214 2O
e* = 2= 3+(14®
X = |n 3»+J7:f7>@




lfﬂ D s O - 2rsn B = gfwse - ees® @ Ji“?;j;f"wﬁh@

2rSin 0 + 25 n@ _%(:036 ;m@@ . AND Simp

i et ) + Prea ® Lese D=yl - corican v
OQ((SW} rcosD) = 2 cosO-s <1~O)
CQ)/ 2 (el )

F?"VCTD(? 'd _ 2 - >
tops / @ (@5@ S m@

RrTiacozen.)
\DenTi7Yy

@/"‘ ConBCT v TBZsms




6] OF: (570 = 2o 2O —sn(-Bg
S —
= Bcos (277-08) - (5 cosD-cosTisrD
=32 (QDS. 277 cos 25 + ;pr--ﬂﬁfsn—} 29> =50

¥ & oo 28351\@@ SYM OER 9:::5
_ & B @
PoLpe . - |
s L (r-) r= Beas D) — s (B 5
= 36@562@) 5 O
i 2) >
( = B 25 4’51»/)‘9@ MO cONCL O SION
D) - 3 cos D7) — 51577 @
o7 = 2520 - 5O [(Froun seove]
@-}f e "36052@ %'S\_.}j@ ANO concLuS) o~
3 NO ConycLusior AROUT SYM pDvER. PDLAL.
POLE: (’3‘] @>@"’r; Sess D 55 @
@ = —3&;32@ *Sme NO ConClUSIoN
(el = Beos Armcd)— s
S i
r = 3 CaS (;lffmf}a}(g/wﬁ‘ @S@#g;@s”ﬂ“s%@
- 0
"= 2 cos D 102D~ 5p2F 51n 2D+ s O
- =y y
?\*/ = 52 LS )é’% <he @@’,\x) CONICLIS) O
Eno CONCLUSION] AROUT SYm OveER POLE™

|_AxIS









